Electronic Journal of Differential Equations, Vol. 2013 (2013), No. 184, pp. 1–7. ISSN: 1072-6691. URL: http://ejde.math.txstate.edu or http://ejde.math.unt.edu ftp ejde.math.txstate.edu

HYERS-ULAM STABILITY OF LINEAR SECOND-ORDER DIFFERENTIAL EQUATIONS IN COMPLEX BANACH SPACES

YONGJIN LI, JINGHAO HUANG

ABSTRACT. We prove the Hyers-Ulam stability of linear second-order differential equations in complex Banach spaces. That is, if y is an approximate solution of the differential equation $y'' + \alpha y'(t) + \beta y = 0$ or $y'' + \alpha y'(t) + \beta y = f(t)$, then there exists an exact solution of the differential equation near to y.

1. INTRODUCTION AND PRELIMINARIES

In 1940, Ulam [21] gave a wide-ranging talk about a series of important unsolved problems. Among those was the question concerning the stability of group homomorphisms. Hyers [3] solved the problem for the case of approximately additive mappings between Banach spaces. Since then, the stability problems of functional equations have been extensively investigated by several mathematicians [4, 16, 17].

Assume that Y is a normed space and I is an open subset of \mathbb{R} . Suppose that $a_i: I \to \mathbb{K}$ and $h: I \to Y$ are continuous functions and \mathbb{K} is either \mathbb{R} of \mathbb{C} , for any function $f: I \to Y$ satisfying the differential inequality

$$||a_n(x)y^{(n)}(x) + a_{n-1}(x)y^{(n-1)}(x) + \dots + a_1(x)y'(x) + a_0(x)y(x) + h(x)|| \le \varepsilon$$

for all $x \in I$ and for some $\varepsilon \geq 0$. We say that

$$a_n(x)y^{(n)}(x) + a_{n-1}(x)y^{(n-1)}(x) + \dots + a_1(x)y'(x) + a_0(x)y(x) + h(x) = 0$$

satisfies the Hyers-Ulam stability, if there exists a solution $f_0: I \to Y$ of the above differential equation and $||f(x) - f_0(x)|| \leq K(\varepsilon)$ for any $x \in I$, where $K(\varepsilon)$ is an expression of ε only.

If the above statement is also true when we replace ε and $K(\varepsilon)$ by $\varphi(t)$ and $\Phi(\varepsilon)$, where $\varphi, \Phi : I \to [0, \infty)$ are functions not depending on f and f_0 explicitly, then we say that the corresponding differential equation has the Hyers-Ulam-Rassias stability (or generalized Hyers-Ulam stability).

Obloza may be the first author to investigate the Hyers-Ulam stability of differential equations (see [14, 15]). Then, Alsina and Ger prove the Hyers-Ulam stability of y'(t) - y(t) = 0 [1]. The above result of Alsina and Get has been generalized by Miura, Takahasi and Choda [13], by Miura [10], and also by Takahasi, Miura and Miyajima [19].

²⁰⁰⁰ Mathematics Subject Classification. 34K20, 26D10.

Key words and phrases. Hyers-Ulam stability; differential equation.

^{©2013} Texas State University - San Marcos.

Submitted May 1, 2013. Published August 10, 2013.

While [12], Miura et al [5] also proved the Hyers-Ulam stability of linear differential equations of first order y'(t) + g(t)y(t) = 0 and $\varphi(t)y'(t) = y(t)$.

Furthermore, the result of Hyers-Ulam stability for first-order linear differential equations has been generalized in (see [6, 7, 12, 20, 22]).

In the meantime, Yongjin Li et al [9] do some work in linear differential equations of second order in the form of $y''(t) + \alpha y'(t) + \beta y(t) = 0$ and $y''(t) + \alpha y'(t) + \beta y(t) =$ f(t) under the assumption that the characteristic equation $\lambda^2 + \alpha \lambda + \beta = 0$ has two different positive roots. And the Hyers-Ulam stability for second-order linear differential equations in the form of $y''(t) + \beta(x)y = 0$ with boundary conditions was investigated in [2].

The aim of this article is to study the Hyers-Ulam-Rassias stability of the following linear differential equations of second order in complex Banach spaces:

$$y''(t) + \alpha y'(t) + \beta y(t) = 0$$
(1.1)

and

$$y''(t) + \alpha y'(t) + \beta y(t) = f(t)$$
 (1.2)

2. Main Results

In the following theorems, we will prove the Hyers-Ulam-Rassias stability of linear differential equations of second order.

Before stating the main theorem, we need the following lemma. For the sake of convenience, all the integrals and derivations will be viewed as existing and $\Re(\omega)$ denotes the real part of complex number ω .

Lemma 2.1. Let X be a complex Banach space and let I = (a, b) be an open interval, where $a, b \in R$ are arbitrarily given with $-\infty < a < b < +\infty$. Assume that g is an arbitrarily complex number, $h : I \to C$ is continuous and integrable on I. Moreover, suppose $\varphi : I \to [0, \infty)$ is an integrable function on I. If a continuously differentiable function $y : I \to X$ satisfies the differential inequality

$$\|y'(t) + gy(t) + h(t)\| \le \varphi(t)$$
(2.1)

for all $t \in I$, then there exists a unique $x \in X$ such that

$$\|y(t) - e^{-\int_a^t g du} (x - \int_a^t e^{\int_a^v g du} h(v) dv)\| \le e^{-\Re(\int_a^t g du)} \int_t^b \varphi(v) e^{\Re(\int_a^v g du)} dv$$

Proof. For simplicity, we use the notation

$$z(t) := e^{\int_a^t g du} y(t) + \int_a^t e^{\int_a^v g du} h(v) dv$$

for each $t \in I$. By making use of this notation and by (2.1), we obtain

$$\begin{aligned} \|z(t) - z(s)\| &= \|e^{\int_a^t g du} y(t) - e^{\int_a^s g du} y(s) + \int_s^t e^{\int_a^v g du} h(v) dv\| \\ &= \|\int_s^t \frac{d}{dv} (e^{\int_a^v g du} y(v)) dv + \int_s^t e^{\int_a^v g du} h(v) dv\| \\ &= \|\int_s^t e^{\int_a^v g du} (y'(v) + gy(v) + h(v)) dv\| \\ &\leq |\int_s^t e^{\Re(\int_a^v g du)} \varphi(v) dv| \end{aligned}$$

EJDE-2013/184

for any $s, t \in I$.

Since g is a constant number, we know that $e^{\Re(\int_a^v gdu)}$ is boundary and continuous. What is more, $\varphi(v)$ is integrable and hence $e^{\Re(\int_a^v gdu)}\varphi(v)$ is integrable. Since X is completed, there exists an $x \in X$ such that z(s) converges to x as $s \to b$.

Thus, it follows from the above argument that for any $t \in I$,

$$\begin{split} \|y(t) - e^{-\int_a^t gdu} (x - \int_a^t e^{\int_a^v gdu} h(v)dv)\| \\ &= \|e^{-\int_a^t gdu} (z(t) - x)\| \\ &\leq e^{-\Re(\int_a^t gdu)} \|z(t) - z(s)\| + e^{-\Re(\int_a^t gdu)} \|z(s) - x\| \\ &\leq e^{-\Re(\int_a^t gdu)} |\int_s^t \varphi(v) e^{\Re(\int_a^v gdu)} dv| + e^{-\Re(\int_a^t gdu)} \|z(s) - x\| \\ &\to e^{-\Re(\int_a^t gdu)} \int_t^b \varphi(v) e^{\Re(\int_a^v gdu)} dv \end{split}$$

as $s \to b$, since $z(s) \to x$ as $s \to b$. Obviously, $y_0(t) = e^{-\int_a^t g du} (x - \int_a^t e^{\int_a^v g du} h(v) dv)$ is a solution of y'(t) + gy(t) + h(t) = 0.

It now remains to prove the uniqueness of x. Assume that $x_1 \in X$ also satisfies (2.1) in place of x. Then, we have

$$\|e^{-\int_a^t gdu}(x-x_1)\| \le 2e^{-\Re(\int_a^t gdu)} \int_t^b \varphi(v)e^{\Re(\int_a^v gdu)}dv$$

for any $t \in I$. It follows from the integrability hypotheses that

$$||x - x_1|| \le 2 \int_t^b e^{\Re(\int_a^v gdu)} \varphi(v) dv \to 0$$

as $t \to b$. This implies the uniqueness of x.

Corollary 2.2. Let X be a complex Banach space and let I = (a, b) be an open interval, where $a, b \in R$ are arbitrarily given with $-\infty < a < b < +\infty$. Assume that g is an arbitrarily complex number, $h : I \to C$ is continuous and integrable on I. Moreover, suppose $\varphi : I \to [0, \infty)$ is an integrable function on I. If a continuously differentiable function $y : I \to X$ satisfies the differential inequality

$$\|y'(t) + gy(t) + h(t)\| \le \varphi(t)$$
(2.2)

for all $t \in I$, then there exists a unique $x \in X$ such that

$$\|y(t) - e^{-\int_b^t g du} (x - \int_b^t e^{\int_b^v g du} h(v) dv)\| \le e^{-\Re(\int_b^t g du)} \int_a^t \varphi(v) e^{\Re(\int_b^v g du)} dv$$

Proof. Let J = (-b, -a) and define $h_1(t) = h(-t), y_1(t) = y(-t)$ and $\varphi_1(t) = \varphi(-t)$, respectively. Using these definitions, we may transform the inequality (2.2) into

$$||y_1'(t) - gy_1(t) - h_1(t)|| \le \varphi_1(t)$$

for each $t \in J$.

Hence, we can now use Lemma 2.1 to conclude that there exists a unique $x \in X$ such that

$$\|y_1(t) - e^{\int_{-b}^{t} g du} (x + \int_{-b}^{t} e^{-\int_{-b}^{v} g du} h_1(v) dv)\|$$

$$\leq e^{\Re(\int_{-b}^{t} gdu)} \int_{t}^{-a} \varphi_{1}(v) e^{-\Re(\int_{-b}^{v} gdu)} dv$$

for any $t \in J$. Indeed, we can transform the above inequality into

$$\|y(t) - e^{-\int_b^t g du} (x - \int_b^t e^{\int_b^v g du} h(v) dv)\| \le e^{-\Re(\int_b^t g du)} \int_a^t \varphi(v) e^{\Re(\int_b^v g du)} dv$$

by some tedious substitutions.

In the following theorems, we investigate the Hyers-Ulam-Rassias of (1.1) and (1.2).

Theorem 2.3. Let $\varphi : I \to [0, \infty)$ be an integrable function on I. Assume that α, β are complex numbers. If a twice continuously differentiable function y(t) satisfies the inequality

$$\|y''(t) + \alpha y'(t) + \beta y(t)\| \le \varphi(t) \tag{2.3}$$

Then (1.1) has the Hyers-Ulam-Rassias stability.

Proof. Let λ_1 and λ_2 be the roots of the characteristic equation $\lambda^2 + \alpha \lambda + \beta = 0$. Define $g(t) = y'(t) - \lambda_1 y(t)$, thus

$$|g'(t) - \lambda_2 g(t)| = |y''(t) - \lambda_1 y'(t) - \lambda_2 (y'(t) - \lambda_1 y(t))| = |y''(t) - \alpha y'(t) + \beta y(t)|$$

Hence, we have $|g'(t) - \lambda_2 g(t)| \le \varphi(t)$. By using Lemma 2.1, there exists a unique $x_1 \in X$ such that

$$\|g(t) - x_1 e^{t\lambda_2 - a\lambda_2}\| \le e^{\Re(t\lambda_2 - a\lambda_2)} \int_t^b e^{-\Re(\int_a^v \lambda_2 du)} \varphi(v) dv$$

where $x_1 = \lim_{t \to b} g(t)e^{-\lambda_2 t + \lambda_2 a}$ and $x_1e^{t\lambda_2 - a\lambda_2}$ satisfies $g'(t) - \lambda_2 g(t) = 0$. Since $g(t) = y'(t) - \lambda_1 y(t)$, we have

$$\|y'(t) - \lambda_1 y(t) - x_1 e^{t\lambda_2 - a\lambda_2}\| \le e^{\Re(t\lambda_2 - a\lambda_2)} \int_t^b e^{-\Re(\int_a^v \lambda_2 du)} \varphi(v) dv$$

For simplicity, we define $\psi(t) = e^{\Re(t\lambda_2 - a\lambda_2)} \int_t^b e^{-\Re(\int_a^v \lambda_2 du)} \varphi(v) dv$, thus

$$\|y'(t) - \lambda_1 y(t) - x_1 e^{t\lambda_2 - a\lambda_2}\| \le \psi(t)$$

By using Lemma 2.1 again, there exists a unique $x_2 \in X$ such that

$$\begin{aligned} \|y(t) - e^{\int_a^t \lambda_1 du} (x_2 + \int_a^t e^{-\int_a^v \lambda_1 du} x_1 e^{v\lambda_2 - a\lambda_2} dv) \| \\ &\leq e^{\Re(\int_a^t \lambda_1 du)} \int_t^b \psi(v) e^{\Re(\int_a^v - \lambda_1 du)} dv \end{aligned}$$

where $x_2 = \lim_{t \to b} (e^{-\int_a^t \lambda_1 du} y(t) - \int_a^t e^{-\int_a^v \lambda_1 du} \cdot x_1 \cdot e^{\int_a^v \lambda_2 du} dv)$. Furthermore, it is easy to prove that $e^{\int_a^t \lambda_1 du} (x_2 + \int_a^t e^{-\int_a^v \lambda_1 du} x_1 e^{v\lambda_2 - a\lambda_2} dv)$ is a solution of (1.1). \Box

Theorem 2.4. Let $\varphi : I \to [0, \infty)$ is an integrable function on I. Assume that α, β are complex numbers, and $f : I \to X$ is continuous and integrable on I. If a twice continuously differentiable function y(t) satisfies the inequality

$$\|y''(t) + \alpha y'(t) + \beta y(t) - f(t)\| \le \varphi(t)$$
(2.4)

Then (1.2) has the Hyers-Ulam-Rassias stability.

EJDE-2013/184

 $\mathbf{5}$

Proof. Let λ_1 and λ_2 be the roots of the characteristic equation $\lambda^2 + \alpha \lambda + \beta = 0$. Define $g(t) = y'(t) - \lambda_1 y(t)$, thus

 $|g'(t) - \lambda_2 g(t)| = |y''(t) - \lambda_1 y'(t) - \lambda_2 (y'(t) - \lambda_1 y(t))| = |y''(t) - \alpha y'(t) + \beta y(t)|.$ Hence, we have $|g'(t) - \lambda_2 g(t) - f(t)| \le \varphi(t)$. By using Lemma 2.1, there exists a unique $x_1 \in X$ such that

$$\|g(t) - e^{t\lambda_2 - a\lambda_2} (x_1 + \int_a^t e^{-\int_a^v \lambda_2 du} f(v) dv)\| \le e^{\Re(t\lambda_2 - a\lambda_2)} \int_t^b e^{-\Re(\int_a^v \lambda_2 du)} \varphi(v) dv$$

where $x_1 = \lim_{t \to b} (g(t)e^{-\lambda_2 t + \lambda_2 a} - \int_a^t e^{-\int_a^v \lambda_2 du} f(v)dv).$ For simplicity, we define

$$\phi(t) = e^{t\lambda_2 - a\lambda_2} (x_1 + \int_a^t e^{-\int_a^v \lambda_2 du} f(v) dv),$$

$$\psi(t) = e^{\Re(t\lambda_2 - a\lambda_2)} \int_t^b e^{-\Re(\int_a^v \lambda_2 du)} \varphi(v) dv$$

thus,

$$\|y'(t) - \lambda_1 y(t) - \phi(t)\| \le \psi(t)$$

By using Lemma 2.1 again, there exists a unique $x_2 \in X$ such that

$$\|y(t) - e^{\int_a^t \lambda_1 du} (x_2 + \int_a^t e^{-\int_a^v \lambda_1 du} \cdot \phi(v) dv)\| \le e^{\Re(\int_a^t \lambda_1 du)} \int_t^b \psi(v) e^{\Re(\int_a^v - \lambda_1 du)} dv$$

where

$$x_2 = \lim_{t \to b} \left(e^{-\int_a^t \lambda_1 du} y(t) - \int_a^t e^{-\int_a^v \lambda_1 du} \phi(v) dv \right).$$

Furthermore, it is easy to show that $e^{\int_a^t \lambda_1 du} (x_2 + \int_a^t e^{-\int_a^v \lambda_1 du} \cdot \phi(v) dv)$ is a solution of (1.2).

If α and β are real numbers, the approximating function will be a real function even if the roots of the characteristic equation are complex numbers.

Corollary 2.5. Let $\varphi : I \to [0, \infty)$ be an integrable function on I. Assume that α, β are real numbers, y(t) satisfies the inequality

$$\|y''(t) + \alpha y'(t) + \beta y(t)\| \le \varphi(t)$$

where $y: I \to X$ is a twice continuously differentiable function, X is a real Banach space. Then (1.1) has the Hyers-Ulam-Rassias stability. Moreover, the approximating function is a real function.

Proof. What we have to do is just to verify that if the approximate function is real. It is easy to know that when the roots are real, the corollary holds. Therefore, we suppose that the roots of the characteristic equation are complex numbers. Let $r_1 = p_1 + ip_2$ and $r_2 = p_1 - ip_2$ be the roots of the characteristic equation, and $\lim_{t\to b} y(t) = d_1, \lim_{t\to b} y'(t) = d_2$, so $\lim_{t\to b} g(t) = d_2 - r_1 * d_1$ $(p_1, p_2, d_1, d_2$ are real numbers).

By some tedious calculations, we can know that the approximating function is

$$\frac{1}{p_2}[d_1p_2\cos(p_2(b-t)) + (-d_2+d_1p_1)\sin(p_2(b-t))](\cosh(p_1(b-t)) - \sinh(p_1(b-t))).$$

which is a real function. This completes the proof of our corollary.

Corollary 2.6. Let $\varphi : I \to [0, \infty)$ be an integrable function on I. Assume that α, β are real numbers, y(t) satisfies the inequality

$$\|y''(t) + \alpha y'(t) + \beta y(t) - f(t)\| \le \varphi(t)$$

where $y: I \to X$ is a twice continuously differentiable function and $f: I \to X$ is continuous and integrable on I, X is a real Banach space. Then Eq(1.2) has the Hyers-Ulam-Rassais stability. Furthermore, the approximating function is a real function.

Remark 2.7. By using the corollary 2.2, we can get similar results with Theorem 2.3, Theorem 2.4, Corollary 2.5 and Corollary 2.6.

Example 2.8. Given $y \in C^2(1,2)$, $\lim_{t\to 2} y(t) = 2$, $\lim_{t\to 2} y'(t) = 1$, and y satisfies the inequality |y''(t) - 3y'(t) + 2y(t)| < t. By using Theorem 2.3, we have

$$|y(t) - (3e^{t-2} - e^{2t-4})| \le \frac{3}{4} - 3e^{t-2} + \frac{5}{4}e^{2t-4} + \frac{1}{2}t;$$

moreover, $y_0(t) = 3e^{t-2} - e^{2t-4}$ satisfies $\lim_{t\to 2} y_0(t) = 2$, $\lim_{t\to 2} y'_0(t) = 1$ and $y''_0 - 3y'_0 + 2y_0 = 0$.

Acknowledgements. This work was supported by grant 10871213 from the National Natural Science Foundation of China.

References

- C. Alsina, R. Ger; On some inequalities and stability results related to the exponential function, J. Inequal. Appl. 2 (1998) 373-380.
- [2] P. Găvruţă, S.-M. Jung, Y. Li; Hyers-Ulam stability for second-order linear differential equations with boundary conditions, Electron. J. Differential Equations, Vol. 2011 (2011), No. 80, pp. 1-5, ISSN: 1072-6691.
- [3] D. H. Hyers; On the stability of the linear functional equation, Proc. Nat. Acad. Sci. U.S.A. 27 (1941) 222-224.
- K.-W. Jun, Y.-H. Lee; A generalization of the Hyers-Ulam-Rassias stability of Jensen's equation, J. Math. Anal. Appl. 238 (1999) 305-315.
- [5] S.-M. Jung; Hyers-Ulam stability of linear differential equations of first order, Appl. Math. Lett. 17 (2004) 1135-1140.
- [6] S.-M. Jung; Hyers-Ulam stability of linear differential equations of first order (II), Appl. Math. Lett. 19 (2006) 854-858.
- S.-M. Jung; Hyers-Ulam stability of linear differential equations of first order (III), J. Math. Anal. Appl. 311 (2005) 139-146.
- [8] M. Kuczma; An Introduction to The Theory of Functional Equations and Inequalities, PWN, Warsaw, 1985.
- [9] Y. Li, Y. Shen; Hyers-Ulam stability of linear differential equations of second order, Appl. Math. Lett. 23 (2010) 306-309.
- [10] T. Miura; On the Hyers-Ulam stability of a differentiable map, Sci. Math. Japan 55 (2002) 17-24.
- [11] T. Miura, S.-M. Jung, S.-E. Takahasi; Hyers-Ulam-Rassias stability of the Banach space valued linear differential equations $y' = \lambda y$, J. Korean Math. Soc. 41 (2004) 995-1005.
- [12] T. Miura, S. Miyajima, S.-E. Takahasi; A characterization of Hyers-Ulam stability of first order linear differential operators, J. Math. Anal. Appl. 286 (2003) 136-146.
- [13] T. Miura, S.-E. Takahasi, H. Choda; On the Hyers-Ulam stability of real continuous function valued differentiable map, Tokyo J. Math. 24 (2001) 467-476.
- [14] M. Obłoza; Hyers stability of the linear differential equation, Rocznik Nauk.-Dydakt. Prace Mat. No. 13. (1993), 259-270.
- [15] M. Obłoza; Connections between Hyers and Lyapunov stability of the ordinary differential equations, Rocznik Nauk.-Dydakt. Prace Mat. No. 14(1997), 141-146.

EJDE-2013/184

- [16] C.-G. Park; On the stability of the linear mapping in Banach modules, J. Math. Anal. Appl. 275 (2002) 711-720.
- [17] Th. M. Rassias; On the stability of linear mapping in Banach spaces, Proc. Amer. Math. Soc. 72 (1978) 297-300.
- [18] Th. M. Rassias; On the stability of functional equations and a problem of Ulam, Acta Appl. Math. 62 (2000) 23-130.
- [19] S.-E. Takahasi, T. Miura, S. Miyajima; On the Hyers-Ulam stability of the Banach spacevalued differential equation $y' = \lambda y$, Bull. Korean Math. Soc. 39 (2002) 309-315.
- [20] S.-E. Takahasi, H. Takagi, T. Miura, S. Miyajima; The Hyers-Ulam stability constants of first order linear differential operators, J. Math. Anal. Appl. 296 (2004) 403-409.
- [21] S. M. Ulam; A Collection of the Mathematical Problems, Interscience, New York, 1960.
- [22] G. Wang, M. Zhou, L. Sun; Hyers-Ulam stability of linear differential equations of first order, Appl. Math. Lett. 21 (2008) 1024-1028.

Yongjin Li

DEPARTMENT OF MATHEMATICS, SUN YAT-SEN UNIVERSITY, GUANGZHOU 510275, CHINA *E-mail address:* stslyj@mail.sysu.edu.cn

Jinghao Huang

DEPARTMENT OF MATHEMATICS, SUN YAT-SEN UNIVERSITY, GUANGZHOU 510275, CHINA *E-mail address*: hjinghao@mail2.sysu.edu.cn